On mixed trilateral generating functions of extended Jacobi polynomials

K.P. SAMANTA¹, B.C. CHANDRA² and C.S. BERA³

¹Department of Mathematics, Bengal Engineering and Science University, Shibpur, P.O.-Botanic Garden, Howrah, Pin-711103, W.B. (INDIA)

²SreeVidyaniketan; 9A, J.M.Avenue; KOLKATA-700006, W.B. (INDIA)

³Department of Mathematics, Bagnan College, Bagnan, Howrah-711303, W.B. (INDIA)

¹E-mail: kalipadasamanta2010@gmail.com

²E-mail: biplab chandra72@yahoo.com

³E-mail:chandrasekharbera75@gmail.com

(Acceptance Date 22nd February, 2014)

Abstract

In this note we have obtained some novel result on mixed trilateral relations involving extended Jacobi polynomials by group theoretic method which inturn yields the corresponding results involving Hermite, Laguerre and Jacobi polynomials.

Key words: Generating functions, Jacobi polynomials, Hermite polynomials, Laguerre polynomials.

AMS-2010 Subject Classification Code: 33C65.

1. Introduction

The extended Jacobi polynomial is defined by ¹:

$$F_n(\alpha, \beta; x) = \frac{(-1)^n}{n!} \left(\frac{\lambda}{b-a}\right)^n (x-a)^{-\alpha} (b-x)^{-\beta}$$

$$\times D^n \left[(x-a)^{n+\alpha} (b-x)^{n+\beta} \right], \quad (1.1)$$
where $D = \frac{d}{dx}$ and λ is a number such that
$$\frac{\lambda}{b-a} > 0.$$

In this paper we have encountered

somenovel result on mixed trilateral relations involving $F_n(\alpha, \beta + n; x)$ -a modified form of $F_n(\alpha, \beta; x)$ and derived an unified presentation of a classof mixed trilateral generating relations for certain special functions.

The main result of our investigation is stated in the form of the following theorem.

Theorem 1: If there exists a bilateral generating relation of the form:

$$G(x,u,w) = \sum_{n=0}^{\infty} a_n F_n(\alpha, \beta + n; x) g_n(u) w^n, (1.2)$$

where $g_n(u)$ is an arbitrary polynomial of degree n, then

$$\left\{1 - \frac{\lambda}{b-a}(x-b)w\right\}^{-1-\alpha-\beta} (1+\lambda w)^{\beta}$$

$$\times G\left(\frac{x - \frac{a\lambda}{b-a}(x-b)w}{1 - \frac{\lambda}{b-a}(x-b)w}, u, \frac{wz(1+\lambda w)}{\left\{1 - \frac{\lambda}{b-a}(x-b)w\right\}^{2}}\right)$$

$$= \sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, z), \tag{1.3}$$

where

$$\sigma_n(x, u, z) = \sum_{p=0}^n a_p \binom{n}{p} F_n(\alpha, \beta - n + 2p; x) g_p(u) z^p.$$

The importance of the above theorem lies in the fact that whenever one knows a generating relation of the form (1.2) then the corresponding mixed trilateral generating relation can at once be written down from (1.3). So one can get a large number of mixed trilateral generating relations by attributing different suitable values to a_n in (1.2).

1. Proof of the theorem

We now consider the following partial differential operator R[2]:

$$R = \frac{\lambda}{b-a} \left[\frac{(x-a)(x-b)z}{y^2} \frac{\partial}{\partial x} + \frac{(x-a)z}{y} \frac{\partial}{\partial y} + (2x-a-b) \frac{z^2}{y^2} \frac{\partial}{\partial z} + (1+\alpha)(x-b) \frac{z}{y^2} \right]$$
(2.1)

such that

$$R(F_n(\alpha, \beta + n; x)y^{\beta}z^n) = (n+1)F_{n+1}(\alpha, \beta + n - 1; x)y^{\beta - 2}z^{n+1}.$$
 (2.2)

The extended form of the group generated by R is given by

$$e^{wR} f(x, y, z) = \left\{ 1 - (x - b) \frac{\lambda w}{b - a} \frac{z}{y^2} \right\}^{-1 - a}$$

$$\times f \left(\frac{x - (x - b) \frac{\lambda aw}{b - a} \frac{z}{y^2}}{1 - (x - b) \frac{\lambda w}{b - a} \frac{z}{y^2}} \cdot \frac{y \left(1 + \lambda w \frac{z}{y^2} \right)}{1 - (x - b) \frac{\lambda w}{b - a} \frac{z}{y^2}} \cdot \frac{z \left(1 + \lambda w \frac{z}{y^2} \right)}{\left\{ 1 - (x - b) \frac{\lambda w}{b - a} \frac{z}{y^2} \right\}^2} \right). (2.3)$$

Let us assume the following bilateral generating relation of the form:

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n F_n(\alpha, \beta + n; x) g_n(u) w^n.$$
 (2.4)

Replacing w by wz and multiplying both sides of (2.4) by y^{β} and finally operating e^{wR} on both sides, we get

$$e^{wR}\left(y^{\beta}G(x,u,wz)\right) = e^{wR}\left(\sum_{n=0}^{\infty}a_n\left(F_n(\alpha,\beta+n;x)y^{\beta}z^n\right)g_n(u)w^n\right). \tag{2.5}$$

Now the left member of (2.5), with the help of (2.3), reduces to

$$\left\{1 - (x - b)\frac{\lambda w}{b - a} \frac{z}{y^2}\right\}^{-1 - \alpha - \beta} y^{\beta} \left(1 + \lambda w \frac{z}{y^2}\right)^{\beta}$$

$$\times G\left(\frac{x - (x - b)\frac{\lambda aw}{b - a} \frac{z}{y^{2}}}{1 - (x - b)\frac{\lambda w}{b - a} \frac{z}{y^{2}}}, u, \frac{wz\left(1 + \lambda w \frac{z}{y^{2}}\right)}{\left\{1 - (x - b)\frac{\lambda w}{b - a} \frac{z}{y^{2}}\right\}^{2}}\right). \tag{2.6}$$

The right member of (2.5), with the help of (2.2), becomes

$$= \sum_{n=0}^{\infty} \sum_{n=0}^{n} a_{n-p} (wz)^{n} {n \choose p} F_{n}(\alpha, \beta + n - 2p; x) g_{n-p}(u) y^{\beta-2p}.$$
 (2.7)

Now equating (2.6) and (2.7) and then substituting $\frac{z}{y^2} = 1$, we get

$$\left\{1-\frac{\lambda}{b-a}(x-b)w\right\}^{-1-\alpha-\beta}(1+\lambda w)^{\beta}G\left(\frac{x-\frac{a\lambda}{b-a}(x-b)w}{1-\frac{\lambda}{b-a}(x-b)w},u,\frac{wz(1+\lambda w)}{\left\{1-\frac{\lambda}{b-a}(x-b)w\right\}^{2}}\right)$$

$$=\sum_{n=0}^{\infty}w^n\,\sigma_n(x,u,z),$$

where

$$\sigma_n(x,u,z) = \sum_{p=0}^n a_p \binom{n}{p} F_n(\alpha, \beta - n + 2p; x) \ g_p(u) z^p.$$

This completes the proof of the theorem.

2. Special cases:

We now discuss some special cases of interest.

Special cases 1(On Laguerre polynomials):

Putting a = 0, $\lambda = 1$ and $b = \beta$ in Theorem 1 and then simplifying and finally taking limit as $\beta \to \infty$, we get the following results on mixed trilateral generating functions involving Laguerre polynomials:

Theorem 2: If there exists a bilateral generating relation of the form:

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n L_n^{(\alpha)}(x) g_n(u) w^n$$

then

$$(1-w)^{-1-\alpha} \exp\left(\frac{-xw}{1-w}\right) G\left(\frac{x}{1-w}, u, \frac{wz}{1-w}\right)$$
$$= \sum_{n=0}^{\infty} w^n L_n^{(\alpha)}(x) \sigma_n(u, z), \quad (1.3)$$

where

$$\sigma_n(u,z) = \sum_{p=0}^n a_p \binom{n}{p} g_p(u) z^p,$$

which is found derived3.4.

Special cases 2(OnHermite polynomials):

Similarly, putting $\alpha = \beta$, $-\alpha = b = \sqrt{\alpha}$ and $\lambda = \frac{2}{\sqrt{\alpha}}$ in Theorem 1, then simplifying and finally taking limit as $\alpha \to \infty$, we get the following result on mixed trilateral generating relations involving Hermite polynomials:

Theorem 3: If there exists a bilateral generating relation of the form:

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n \frac{H_n(x)}{n!} g_n(u) w^n$$

then

$$\exp(2xw - w^2) G(x - w, u, wz) = \sum_{n=0}^{\infty} \frac{w^n}{n!} H_n(x) \sigma_n(u, z),$$
 (1.3)

where

$$\sigma_n(u,z) = \sum_{p=0}^n a_p \binom{n}{p} g_p(u) z^p,$$

which is found derived 5.6.

Special cases 3 (On Jacobi polynomials):

Again, if we Put -a = b = 1, $\lambda = 1$ and interchanging α , β in Theorem 1, we get the following results on mixed trilateral generating relations involving Jacobi polynomials:

Theorem 4: If there exists a bilateral generating relation of the form:

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n P_n^{(\alpha+n, \beta)}(x) g_n(u) w^n$$

then

$$\begin{split} & \left[1 + \frac{w}{2}(1-x)\right]^{-1-\alpha-\beta} (1+w)^{\alpha} G\left(\frac{x - \frac{w}{2}(1-x)}{1 + \frac{w}{2}(1-x)}, u, \frac{wz(1+w)}{\left\{1 + \frac{w}{2}(1-x)\right\}^{2}}\right) \\ & = \sum_{n=0}^{\infty} w^{n} \, \sigma_{n}(x, u, z), \end{split}$$

where

$$\sigma_n(x,u,z) = \sum_{p=0}^n a_p \binom{n}{p} P_n^{(\alpha-n+2p,\beta)}(x) g_p(u) z^p,$$

which is found derived7.

Finally, we would like to point it out

that we can get a resultfound derived⁷ which is analogous to case 3 above, if we use the following symmetry relation:

$$P_n^{(\alpha,\beta)}(-x) = (-1)^n P_n^{(\beta,\alpha)}(x).$$

References

- I. Fujiwara, A unified presentation of classical orthogonal polynomials, *Math. Japan 11*, 133-148 (1966).
- K.P. Samanta, Some generating functions of extended Jacobi polynomials by Lie algebraic method, Jour. Cal. Math. Soc., (to appear) (2013).
- B.B. Saha and S.K Chatterjea; Quelquesfonctionsgeneratrices des polynomes de Laguerre, du point de vue des groups de

- Lie, C.R. Acad. Sc. Paries, 284(A), 1121 (1977).
- A.K. Chongdar, On generating-functions of Laguerre polynomials, *Bull. Cal. Math. Soc.* 79, 48-56 (1987).
- A.K. Chongdar; Some generating functions of H_n^r(x, a, p) the Generalization of Hermite polynomials, Tamkang Jour. Math., 19(2), 49-51 (1988).
- S.K. Chatterjea, An extension of a class of bilateral generating functions for certain special functions, *Bull. Inst. Math.Acad. Sinica*, 5(2), 323-331 (1977).
- 7 S. Alam and A. K. Chongdar, On Some Mixed Trilateral Generating Functions of Modified Jacobi Polynomials by Group Theoretic Method, Univer. Jour. Appli. Math. 1(2), 63-71 (2013).